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Al

Samples | X; | X5 | X3 | X4 | X5

1 8 /12| 15 | 10 9

2 8 |9.5| 15 |12.1|10.2

3 99|13 | 9 7 10

4 11 |7.5|14.4|12.2 | 10.1
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4 11 | 7.5 | 144} 12.2 | 10.1 11.04 5.210
X =10.645 | $* =5.236

2)_(_ 10.8 +10.96 + --- + 11.04
n 4

g2 ZXi—%? EX’-nX* ¥X" ,
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= n
S**@—1 2.558 2.558

Vn 5  2.236

UCL = X + 30x = 10.645 + 3 % (1.144) = 14.077

6% =

51l o

LCL = X — 30g = 10.645 — 3 x (1.144) = 7.213
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Samples | X; | X, | X3 | X; | X5
1 8 |12 15 | 10 9
2 8 |9.5| 15 |12.1|10.2
3 99| 13| 9 7 10
4 11 |7.5|14.4|12.2| 10.1

A, = 0577 ¢« A; = 1.596 ol Lle ¢ 4ul

Skl Gl 2l e (X) (Sbead) s dll s / (X chart) cabead) Jassll 3oy 3 s ) o sladl)
Oiteuall S BJL_.}MJ\ SN C\:\JY\ OSH1A) 2as ({3 c(R) sl &= (X) G.a\.u;l\ L.\.US\ Gua (S)

—
| S—



Juald &l aa

:‘;'N\ C_);:u.m llull O -Jall

(1) s 5l 3 k)
X S S R
10.8 6.160 2.482 7
10.96 5.818 2.412 7
9.78 3.754 1.937 6
11.04 5.210 2.283 6.9
X=10.645 | $2=5.236 | $=2.279 | R=6.725
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